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WORD PROBLEMS ON MULTIPLICATION.  

SEE EXAMPLE CAREFULLY AND SOLVE THESE 

QUESTIONS.  

EXAMPLE  : 1 – A bird has 2 wings . How many  

Wings will 4 birds have in all ? 

Solution  : Number of wings 1 bird has = 2 

                   Number of birds                     = 4  

 So , number of wings 4 birds  will  have = 2 × 4 = 8 

Answer : 4 birds will have 8 wings in all . 

                                 EXERCISE  

Solve the following in your notebook.  Write  the 

Answer in the given boxes . 

A. There are 4 children in a park . Each child has 

2 balloons.  How many balloons do they have 



In all ? 

                      ******* 


